Review Sheet: Chapter 2.A

You should know definitions and usage of the following words:

Law of Conservation of Matter ‘reactants products

balanced equation subscript coefficient

resources renewable resources nonrenewable resources
waste recycling alloy

1. The total number of atoms of hydrogen in the chemical formula, Ca(OH),, is Y

2. In chemical reactions matter is neither created nor destroyed is a statement of l aw/

Q}— (Lllﬁkh\fkuk\r‘s\

3. According to this law, the number of atoms after a reaction takes placeis ¢ (L( ok +O  the numbers
of atoms present before a reaction takes place.

4. How quickly are nonrenewable resources are produced by the Earth? m\.\}) Qe nQNey
5. The coefficient in the following portion of a chemical equation, 4 Ni(NOs),, is Y

6. Ina chemical formula, the coefficient tells you H of moleclies o
cCom pc;sy-x(\

7. What is conserved in a balanced chemical equation? RACRYS /Q oo

8. How many atoms of iron can be found in Fe,0,? s

9. Inthe following portion of a chemical equation, 3 CH,, the subscript is Y

- 10. In a chemical formula the subscript tells you 1:\ C‘( (j‘f [GI1MAN

11. The starting materials in a reaction are called the fCao (J& avits

12. In order for a chemical equation to obey the law of conservation of matter it must be D@ Lanced



13. The substances formed in a chemical reaction are called Pr O(\ vCt s

Answer questions #14-16 based on the following equation:
H cr + 3o, - L Cpds

14. What is/are the reactant(s) in this equation?
Cr + 0,
15. What is/are the product(s) in this equation?

Cr O

3
16. Is the%’ﬁuation balanced? If not, balance the equation.

o Ll
NO o5
Cr,-::;i C{ =70
0 =72 O =z3
Balance the following equations:
1. 7 Al ¥ 5 HEso, > WSO+ 3 H,
\ ) TN
Al= n2- } Al=72 k‘f‘{ )
H=%¢ °o=3 =
Sl Qs |k
O =% \> H="20
2. 2 NaClo, 2 Nacl + 30,
No =\ 2 No =N = P
LY =92 [\ =% 2 ‘ﬁ____f/
C=%¢ O =X 6
3. NaOH + HNO; » NaNO; + H,0
N =\ N o = | (Y
N =\ Ky = | al ance fo
H =2 H =12
4. Sb,S;  + 3 Fe > 5 FeS + ] sb
Sb =2 Sk = | 3
{
§ = 3 S =N 3 \‘_C_]/
Fe =\ —
3 Fe = 13




6. d=CHs + 1o,
C = 2.4
H o= & Vo
O =\
7 ALO; + e P A0
Al =13
O=3
C =13
Cl =26
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